Jooooodbobogboodboodoodoogoogbood

goboogoooo

1 O0O0boooboooon

Ooooo0O00ooon
dy  f(x)
dz — g(y)
00000000000000000000000000000 ()00000

o) L = 12

[owar= [ sz +e

gbbodcgoboobOo0ObOobObOO0ObOoO0DbOO0DbO0Ob0DbOobObObODybOODOOODOODLOODO

/ﬁ@my:/fwwx+c

gboogobooobbobbobboobooboobooobn

gbob0 00000

- ~
dy _ f()
dz — g(y)
goooooo
g(y)dy = f(x)dz
gogog
[otwidu= [ re)az -+
N Y,

00:1 00000000000
d
9y 44 =0
dx
[00]00000000000000000OO0

ydy = —4xdx

/9ydy = —/4xdx, —

1

oood
v =222+ ¢

N | ©



oog
2?2 P ¢
R (C_E)

gboooboobboobbo ecobO0obOo0obOoobooboobooboboobon

O0:2 00000000000
dy

A 2
dx ty
(0000000000000 0ooooooo
d
Y _de
1+ 52
oo
d
/1+yy2 Z/dl‘, — arctany =z + ¢
aoo
y = tan(z +c¢)

gbooobooobooboooboboboobooboboobobooboobbomobobooboo

gbooobodb z=2 000 y=y 0000000000 0000000z=20,y=yU000000000
gooobooboooooboboboorgooooog

dy
fla,y) +g(z,y)— =0 (5)
gogog dl‘DDDDdy:g—gdl‘DDDDD
fle,y)de + g(z,y)dy =0 (6)

00o000o0o0o0ooO0o (5)00000000 (p)UO0000DL0O0DO0UOODO00mOoULOODOoUD

00:3 00o0poooogoooa
d

[0O0]0000000

dy dx
1432 T T2
good
arctan y = —arctanx 4 c, — arctan y 4 arctanz = ¢
ddtanO0O
tan(arctan y + arctan z) = tanc (7)

oooooooooooooao
tana + tan b

t )= ——M—
an{a +b) 1 —tanatanb



O0o0oooO0ooo (7)ooooooooo

tan(arctan y + arctan z) = yt+e
—zy
aoo
yte =tanc (8)
1—2xy
oo

O000000000e«00000y=102=000 (8§ 000001=tanc00000DO0O0OOO

1—
uzlmmmmy: t
1—2xy 14+

O0o0o0¢9)ooooooooooon

oo:4 000000000 000000000 T, Ooooooooooooao T(t)DDDDDDDD T(t)—To
ooooo
%:_k(T—TO) (k> 0)
O0o0oO00po00000 go0000000000OCOO0OO0OOOOOOOOOOOOOOOOOOOOOOO
000000000 s0OO00O00O0O00O00O00O00O 2100000000000
O:0000000000000000

dT dt
= —(T-20 = —kdt
di ( )= 7%
oooooooo
In|T—20] = —ki+c
T—920 = Hefr=Ft = e bt
T(t) = 20+ce™*

good:=000
100=20+c= c =280

t=300 ;
80 = 20 + 80e™3F — 73k = T

T({t)=21000
21 = 80 (=)' = (e=3%)"/° = L

80
t 3 1
3 (z) =In (@)

_,In1/80 _,  —4.3820
~ 7 In3/4 7 02877

gboooboooon

gooooo

= 45.6966[min]



2 OUuobboon

5oy

googoboooboboobboobboboooboobooboo %DDDDDDDDDDDDDDDDDDD

O0o0o0oo0ooo (l)ooooooo
y _ _
—=yp 00000 y=2av
x

gbobobobD0o000000O0O0O0DOO0DOO

[D0ly=2v00000

y dy dv
T ’ dx_v—i—xdx
O0oo0oooOo (lo)oooooo
d
xé:f(v)—v

goooooooooood

goO:5 0000o0bogooboo

gbooobooobooboon

d
oW _¥_ 7 (11)
de = y
0000000000y =20v00000¢ =v+2/ 00000000 (11/)000000O00DOOODOOOO
oo
5 (v dvy 1 . 2v do — dx
YT ) TV T vz—i—lv_ T
oo
2 d
/ﬁdv:—/f—l—c — log(v? +1) = —logz + ¢
gooooao

(v +1)=b, (b=¢°)
aoo v:%DDDDDDDDDDDDDD

2

2?2+ y? =ba

coooooOoosooOOoDOoOoOOd



3 Ogobbgod

3.1 0Ooogod

O00oo0ooooooo
dy
%+P(l‘)y_Q(l‘) (12)

0000000000000000y000000 y 00O0OD0O0O0O0D00O00000000000D00O0O000

0000000 (12)00000

y:aﬁPﬂ</QJMme)DDDD (13)

[DO0](12) 0000 &P OoDOO00

g%eff“f-Fyfmx)edef::cgugefpdf (14)

DDDDDDDD%(wﬂwjDDDDDDDDDQ@DDDDDDDDD

d

— (yef de) _ Q(x)edex

goooood
yed Pdo — /Q(x)ef Plrgrte — y=e JP® (/Q(x)ef Pz gy 4 c)

db:6 J0D0O0O0bOOoobOO0o

[Do]ooo
P(zx) = —1; R(x)=¢"; /Pda::—a:

0 (13000000
y(r) = €” (/ e e dr + C) =e"[e" + ] = ce” + e

oooo
000000000000 P —c-sgpnonon

xr

(V —y)e " =(ye ) =eTe " =¢
goboooooobooooobuoboooon

ye P =e" 4, 0000 y=e™ +ce®



O0:7 00000000000
zy +y+4=0

(0000000000000 /20000000000000000

;o1 4
v+-oy=-—-
xr xr

0000 P(z)=10Qx)=-20000

/de:ln|a:|, el Pdv — o e—dex:é
00000 (12)00000000000o0oo
y(ar:)l [/a:(—%)dx—l—c] =——4
T T
3.2 UJO0UOUOOoOoOOOon
dy n
W 1 payy=Qa)y (15)

gooooooooobobbobOn=0000000000000000rn=1000000000000030O
gboooboooboooboobooooboon

00000000000 (15)0 z=y'""00000000 20 ,0000000000000000O00
gboooboaon

[00]:=y!-"00000

do= (I=njy™y (16)

000 (15 00000oooouo
2+ (1 =n)P(z)z = (1 —n)Q(x)

gbooboobooboobooboon

4 QODO0O00O0OO0OO0O0OO

gooooooogogoo
P(z,y)dz + Q(x,y)dy =0 (18)

00000000 w(z,y) DOOD0O0ODO0O0OOU0OODO0OODOOOOD (I®)D0000DO0O0OOOOO



O(18)o0oo0oooooooo

ou

du = Pdz + Qdy (du = —dr+ a—udy)

Oz

gbooobooobooobooboooo

dy

Ju Ou
P=— = — 19
ox’ @ Oy (19)
000000000 (18) 0
du(z,y) =
ogoooood
0000000 Pde+Qdy=000000
u(z,y) =c (20)
00000000Pde+ Qdy=du0000
DDDDDDDDDDE(lS)DDDDDDDDDDDDDDDDDDDD
00 1 Ple,y)de+Q(z,y)dy=0000 DEDOODOOOOOOOOO
orP  9Q
—_— = 21
0y Ox (21)
good
ood DDDDDE(?l)DDDDDDDDDDD
du = Pdz + Qdy
DDDDDU(l‘,y)DDDDDDDDDD
Ju Ou
P=— =—000o00
8z’ @ dy
P,0Q., 000000
oP 5%u
Phb=— = —— 22
Y7 oy Oyox (22)
QR 0%y
@ Ox Oxdy (23)
or oQ
-— = — 24
— By ba (24)

P,=Q, 000000

0000000 (2)000000000000000000000 uw(e,y)OODOODO

u:/jP(x,y)dx—l—/byQ(aay)dy



gboooboooboooboob yooboobooobn
00w, 0w, 000000

o = Play) (25)
M- 2 / (r,9) d + Qa )
= / d + Q(z,y)

00000 (21)000000

ou 70Q
— = a—xdaj—i—Q(a,y)

dy a
= Q= v +Qa,y)
= Q($’y) _Q(aay)+Q(aay) :Q(x,y)

aoo 5
u
i 2
3 Q(x,y) (26)
O (25)0 (26) 00
de—i—Qdy:@—udx—l—@—udy:du
Ox Oy

— Pdr+Qdy=00000 DEOOOO



